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Question 1

Consider the straight line equation: y = x+ 1.

(a) Complete the table above for:y = x+ 1.

y=x+1 y=x+1 y=x+1 y=x+1
when x = -3 when x = -1 when x = 0 when x = 2
y=-3+1 y=-1+1 y=0+1 y=2+1
y=-2 y:() y=1 y=3

(4 marks)

(b) On the graph paper on the next page, draw the graph of

y = x + 1 using the table above. Use a scale of 2 cm = 1 unit on the
x-axis and 2 cm = 1 unit on the y-axis.

(6 marks)
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Question1:y=x+1
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Question 2

Consider the straight line equation: y = x + 2.

(a) Complete the table above for: y = x + 2.

y=X+2 y=X+2 y=X+2 y=Xx+2
when x = -2 when x = -1 whenx=0 whenx =1
y=-2+2 y=-1+2 y=0+2 y=1+2
y=0 y=1 y =2 y=3

(4 marks)
(b) On the graph paper on the next page, draw the graph of
y = x+ 2 using the table above. Use an appropriate scale.

(6 marks)
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Question 2:y=x+2
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Question 3

Consider the straight line equation: y = x - 3.

(a) Complete the table above for: y = x - 3.

y=x-3 y=x-3 y=x-3 y=x-3 y=x-3
whenx=-2 whenx=-1 whenx=0 whenx=1 when x =3
y=-2-3 y=-1-3 y=0-3 y=1-3 y=3-3
y=-5 y=-4 y=-3 y = -2 y=0

(4 marks)

(b) On the graph paper on the next page, draw the graph of
y = x - 3 using the table above. Use an appropriate scale.

(6 marks)
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Question3:y=x-3
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Question 4

Consider the straight line equation: y = 2x + 4.

(a) Complete the table above for: y = 2x + 4.

y=2x+4 y=2x+4 y=2x+4 y=2Xx+4 y=2x+4
when x = -2 when x = -1 whenx =0 when x =1 when x = 2
y=2(-2) +4 y=2(-1)+4 y = 2(0) + 4 y=2(1) +4 y=2(2) +4
y=-4+4 y=-2+4 y=+4 y=2+4 y=4+14
y=0 y=2 y=4 y=6 y=8

(5 marks)

(b) On the graph paper on the next page, draw the graph of
y = 2x + 4 using the table above. Use an appropriate scale.

(6 marks)
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Question4 :y=2x+4
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Question 5
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Consider the straight line equation: y = 2x- 3.

X -3 -2 -1 o 1 2 3
y -9 -7 -5 -3 -1 1 3
(a) Complete the table above for: y = 2x - 3.
y=2x-3 y=2x-3 y=2x-3 y=2x-3 y=2x-3 y=2x-3 y=2x-3
whenx=-3 whenx=-2 whenx=-1 whenx=0 whenx=1 whenx=2 Whenx=3
y=2(-3)-3 y=2(2-3 y=2(1)-3 y=2(0-3 y=2(1)-3 y=20)-3 y=20)-3
y=-6-3 y=-4-3 y=-2-3 y=0-3 y=2-3 y=4-3 y=6-3
y=- y=- y=- y=-3 y=- y=1 y=3
(7 marks)

(b) On the graph paper on the next page, draw the graph of y = 2x -3
using the table above. Use an appropriate scale.

Complete the following statements.

(c) The gradient of the straight liney=2x-3 is:

(d) The y intercept of the straight liney =2x -3 is
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Question 5:y=2x-3

4

Y (3,3)

(2,1 ©

D

(1/ '1) @

(0-3 @

(_11 _5) @

(-21 -7)

(-31-9)

-10
X-AXIS SCALE 2 CM =1 UNIT

Page 11 of 17




Purchase solutions at www.868tutors.com

Question 6

Consider the straight line equation: y = % xX+3

1
(a) Complete the table above for:y = > x + 3.

y—%x+3 y—%x+3 y=%x+3 y=; Xx+3 y—%x+3
when x = -3 when x = -2 when x = -1 when x =0 when x =1
y=;(3+3  y=;(2+3 y=3(1+3 y=30+3 y=3(1)+3
y=-15+3 y=-1+3 y=-05+3 y=0+3 y=05+3
y=1.5 y=2 y=2.5 y=3 y=3.5
y=-x+3 y=-x+3 y=%x+3 y=5 X+3 y=-x+3
when x = 2 when x = 3 when x = 4 when x =5 when x = 6
y=;@+3  y=;(0)+3 y=3;@+3  y=;06)+3 y=;(6)+3
y=1+3 y=15+3 y=2+3 y=25+3 y=3+3
y=4 y=4.5 y=5 y=5.>5 y=6

(10 marks)

(b) On the graph paper on the next page, draw the graph of

1
y= 2 x + 3 using the table above. Use an appropriate scale.

(6 marks)
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Question6:y=05x+3
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Question 7

Consider the straight line equation: y = — %x +3
X -3 -2 -1 0 1 2 3 4
y 4.5 4 3.5 3 25 | 2 1.5

(a) Complete the table above for:y = — % x+3

y=—§x+3 y=—%x+3 y=—%x+3 y=-%x+3
when x = -3 when x = -2 when x = -1 when x =0
y=-300+3 ya l(g)es ye-i(a)ss y=o3043
y=15+3 y=1+3 y=05+3 y=0+3
y=4.5 y=4 y=3.5 y=3
y=-5x+3 y=-3 x+3 y=-; X+3 y=-3 x+3
when x = 1 when x = 2 when x = 3 when x = 4
y=-;(1)+3 y=-1@)+3  y=-;0)+3 y=-;(4)+3
y=-05+3 y=-1+3 y=-15+3 y=-2+3
y=2.5 y=2 y=1.5 y=1

(8 marks)

(b) On the graph paper on the next page, draw the graph of
y=— %x + 3 using the table above. Use an appropriate scale.

(6 marks)
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Question 7:y=-05x+3
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Question 8

Determine whether the following pairs of lines are perpendicular or parallel
to one another. Give an explanation in each case.

(a)y=2x+3 andy=2x-3

The lines y = 2x + 3 and y = 2x — 3 are parallel because they have the same gradient,
m = 2.

(b)y=3x+8and y=— 3 x+4

The linesy =3x+ 8 andy = — éx + 4 are perpendicular because the product of their
gradient is = -1.

(c) 2y =10x+1and 3y=15x+3

2y =10x+1 3y =15x+3
_10x+1 15x + 3
y=7"0, ==
1 -
y=5x+5 y=56x+1

The lines are parallel because the gradient is the same, m = 5.

(d6y=1x+4and 2y =-12x + 8

6y=1x+4 2y =-12x+ 8
y y The lines are perpendicular
_1x+4 _—12x+8 because the product of their
y=""% y= 2 gradient is = -1.
1 4 y=—-6x+4 lyg=-1
= — + -
y=%X 6 6
1 2
= —X +—
y= X 3

(8 marks)
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END OF WORKSHEET
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